Y[i (t) - K +a x' (1) )hl?UMgo XD 2[DUM94 xb 3EUM99

14

Y/ (t) t i ‘
DUM90 1990 =1, =0
DUM94 1994 =1, =0
DUM99 1999 =1, =0

X' (t) t i

( ) 1.0 1.0
a Bl B2 B3
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1994 1999
1990 1994
1994
0D 1999
1999

1990 1995

1999

1990 1994

1999
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1990 1994 1999

1,774 2,101 2,481
368 474 606
377 476 603
660 831 1,025
331 415 517
367 465 580
634 798 983
1,020 1,279 1,535
710 873 1047
758 939 1124
1,845 2,291 2,702
1,590 1,986 2,332
2,795 2,978 3,166
2,171 2,546 2,842
679 893 1131
366 471 585
368 473 583
263 336 417
301 368 448
740 918 1,134
735 908 1,089
1,218 1,497 1,796
2,351 2,846 3,348
592 746 912
373 479 605
681 797 922
1,961 2,298 2,598
1,374 1,666 1,993
362 456 561
291 365 450
168 216 274
209 264 330
591 751 924
789 985 1,193
458 573 687
237 300 375
294 373 466
375 477 598
219 268 330
1,370 1,715 2,058
247 314 386
354 454 561
512 634 787
343 434 540
339 425 530
468 590 740
370 458 566
35,398 43,201 51,458
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I(Y,/(t)- D =(na,)xX'(t) +(nbl,)*xDUM 90+ (n b2,) xDUM A4 + (In b 3,) xDUM 99

LNGB 1 -0411 (-252)| -0.446 (-4.00)
LN(B 2 -0937 (-a74y| -0914 (75| 0363 (276 0526 (380)| 0496 (98s)| 0547 (1306)
LN(B 3 -0.840 (-352) -0.763 (-4.66) 0243 (152) 0.385 (2298 0.330 (5.38) 0.487  (9.54)
LN(a ) -3.752 (-701)| -0338 (-092)| -0.080 (-022)| -1072 (-276) 0168 (119 -0713 (-6.07)
2 0.701 0.512 0.106 0.298 0.544 0.582
2
(1994,1999)
1999
C )
C )
1999 _ \/1995
— \/1999 l,al Lall 2010 1999
YI,naJI _YI,aII + Zlggg_ 21995 >{Zall - Za\II )
all all
n
YI,aII n |
n
Z n
I
n
n 1,all
all 1999
YI,aJI
n
Jal n

Yn

|,all
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